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1. Polycarbonate is made by mixing 20 kg bisphenol A with 15 kg phosgene in a batch reaction.
What are the maximum number-average chain length, X,, and maximum number average
molecular weight, M,, of this polymer? (1 point)
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2. For 10 moles of ethanediamine (H,N-CH,CH,-NH,) were reacted with 10 moles of adipic acid 4
(HOOC-CH,-CH,-CH,-CH,-COOH). After the reaction, a titration was performed using NaOH ¥

(which reacts with COOH) and an indicating dye to determine the number of adipic acid groups
remaining free after the polymerization. If 100.0 mL of 2.0 M NaOH were required to neutralize
the polymer, what is the average molecular weight (M,) of the polymer? (1 point)
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